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CHAPTER XII

RECONCILIATION OF COST AND FINANCIAL ACCOUNTS  
Learning Objectives:

    After studying this chapter one will be able to

· Understand the need and benefits of reconciliation of cost and financial accounts

· State the reasons for the difference between the profits shown by cost books and financial books

· Reconcile the two figures of profits by preparing reconciliation statement or memorandum reconciliation a/c
12.1  Introduction:  It has been discussed in the preceding chapterthat two types of systems are followed for cost book keeping i.e. integral and non-integral cost accounting system.

Non-integral system emphasises that the difference in objectives of financial accounting and cost accounting calls for a different approach of recording the transactions. Financial accounting is concerned with the ascertainment of profit/loss for the whole operations of the organisation, for a relatively long duration usually a year, without being too much concerned with cost computations, whereas cost accounting aims at ascertaining the profit/loss made by different manufacturing or product divisions for attaining the efficiency in the organisation by cost comparision and for cost control.

In those organisations, where non-integral system exists, two accounting systems deal with the same basic transactions (say, purchase of materials, consumption of materials, payment of wages and other expenses etc) in different manner and transactions therein are recorded with a different approach. The difference in purpose and approach give rise to different figure of profit in cost accounts as compared to the profit figure disclosed by the P&L A/c in financial set of books. Consequently, the need for reconciliation between cost accounting's profits and financial accounting's profit amount arises.

Contrarily, in an organisation practicing integrated system of cost book-keeping, financial accounting's transactions and cost accounting's transactions are presented and recorded in the same set of books. There is one P&L A/c and one figure of profits. In such cases, therefore, there is no need for reconciliation.
Need and usefulness of Reconciliation
It is important in case, non-integrated system is in existence that different figures of profits (as per two sets of books) are periodically reconciled with each other lest they should lose their credibility. The need for reconciliation between the profits as disclosed by cost accounts and financial accounts if considered and catered to, results into the following benefits for the organisation.

(1)
To find out the reasons for the difference in profits/loss shown by cost accounts and financial accounts


(2)
To ensure the mathematical accuracy and reliability of cost accounts (to have appropriate cost ascertainment and cost-control) and to have check on the financial accounts as well


(3)
To facilitate coordination and promote better cooperation between the activities of financial and cost sections of the accounting departments.


(4)
To place the management in better position to acquaint itself with the reasons for variation in profits and paving the way for more effective internal control and for standardisation of policies regarding stock valuation and recovery of overheads etc.

12.1 Reasons for the difference

Various reasons leading to difference in profit figures disclosed by two sets of books can be broadly classified into three categories i.e.


(i)
Differing treatment of certain items in cost accounts and financial accounts

(ii)
Items appearing only in financial accounts


(iii)
Items recorded only in cost accounts

These reasons are exhibited in the following diagram and elucidated in the following paragraphs.


(i)
Items treated differently in Cost Accounting and Financial Accounting


(a)
Different methods of stock valuation

Stocks of Raw materials - In financial accounting, stock of raw materials are valued at cost or market price whichever is less whereas raw material's stocks may be valued on the basis of FIFO, LIFO or average method (as studied in chapter on materials) in cost accounts. This leads to differencing figures of profits as per two sets of books.

Work-in progress stocks - Difference in profits may also be there in case in w-i-p stocks are valued using different methods in two sets of books. For example, it may be valued at prime cost or factory cost in case of cost accounting while in w-i-p stocks may be valued after adding a part of administrative expenses also to factory cost in financial accounts.
Finished goods stocks - In financial accounting, such stocks are valued at cost or market price, whichever is less. However, valuation of closing stock of finished goods is usually made at total cost of current production in cost books.


(b)
Under/over absorption of overheads
In financial books, overheads are recorded at the amount incurred actually on them. In cost accounting, however, absorption of factory office and selling and distribution overheads is based on an estimated or predetermined overhead rate e.g. - percentage of prime cost
or - percentage of factory cost

or - percentage of total cost of production

or - rate per unit sold

or - percentage of sales or gross profit etc.,

which may be more or less than the actual amount incurred


(c)
Different methods of charging depreciation
The methods of providing depreciation under financial accounting is totally governed by the Companies Act and Tax provisions. Accordingly, diminishing balance method or straight line method of depreciation is usually followed. However, the most common methods of charging depreciation in cost accounting are machine hour rate or production hour or unit method.


(d)
Abnormal losses or  gains
Abnormal losses or gains, as a fundamental rule, are excluded from cost accounts. If they are excluded and are transferred to costing profit and loss account, then profit figures under two sets of books will not differ & no adjustment is required. In case, they are not differ & no adjustment is required. In case, they are not transferred to P&L A/c, costing profit/loss will differ from financial profit/loss. Example of such losses & gains are abnormal wastage of material, cost of abnormal idle time or facilities, exceptional bad debts or Abnormal gain while manufacturing through processes etc.

(ii)
Items appearing only in financial accounts-
There are certain items of income and expenses, which are ignored completely while preparing cost accounts and leading to difference in two profit figures. They include :

(a)
Purely financial charges or expenses

-
Loss on sale of fixed assets

-
Loss on investments

-
Discount on issue of shares or debentures

-
Interest on bank loan, mortgaged, debentures etc.

-
Damages payable under law

-
Fines and penalties

-
Loss due to scrapping of machinery etc.

-
Loss due to theft, pilferage etc. adjusted in financial books or

-
Company's expenses on transfer of office

-
Goodwill written off, Preliminary Expenses written off

(b)
Purely Financial Incomes

-
Interest received on bank deposits

-
Rent Receivable

-
Transfer fee received

-
Dividend and interest received on investments

-
Profits on Sale of Capital assets

(c)
Items of Profit and loss appropriation Account

-
Transfer to Reserves

-
Income tax paid

-
Dividends paid

-
Charitable donation

-
Capital expenditure specifically charged to revenue

-
Additional provisions for depreciation of building & plant etc. and for bad debts.

(iii)
Items recorded in cost accounts only -

-
Notional interest on own capital charged in some cases but not paid
-
Fully depreciated assets still used in the business

-
Notional rent in case own building is used for production or any other purpose

-
Salary of the proprietor where he works but does not charge salary
12.2  Methods of Reconciliation -

Reconciliation of financial accounts and cost accounts can be presented using any of the following two methods i.e.

(1)
Statement of Reconciliation or Reconciliation statement

(2)
Memorandum Reconciliation Account.

(1)
Reconciliation Statement - Reconciliation statement is a statement which exhibits the items to be added or subtracted to bring the balance profit/loss of cost books in agreement with the profit/loss as disclosed in financial books. So, the purpose of preparing reconciliation statement is to reconcile the profit/loss as per cost accounts with the profits/loss as per financial accounting by ascertaining and adjusting all causes of differences between the two.
12.2.1  Procedure of Preparing reconciliation Statement - This procedure consists of the following steps :
Step 1 - Start with taking any one of the figure of profit/loss (either as per cost books or financial books) which may be called base profit figure.
Step 2 - Secondly, the various reasons of disagreement (as discussed in the preceding section) between the profits disclosed by two sets of books in a particular case are ascertained.
Step 3 - Add those items of difference which have the effect of increasing profits in other set of books to the base profit figure (from which we started in step 1) (such items may be called '+' items)

Step 4 - Subtract those items of disagreement from the base profit figure which have the effect of lowering profits in other set of books. (such items may be called ‘-’ items).
The resultant figure after making all the above mentioned adjustments (if all the calculations are computably and arithmetically correct) will be the profit or loss as per other set of books.
Proforma Reconciliation Statement - Suppose we start taking the profits as per cost accounts as base profits figure, the reconciliation statement can be exhibited / presented as given below.
Proforma Reconciliation Statement
(When profits as per Cost Accounts is taken as Starting point or base figure).

	
	Particulars 
	Amount (`)
	Amount (`)

	A.
	Profits as per cost accounts
	
	

	B.
	Add : items having the effect of higher profits in financial accounts
	
	

	(a)
	over-absorption of factory, office and selling and distribution over-heads 
	
	

	(b)
	Items charged in cost accounts only eg. 
	
	

	
	- Notional Rent 
	
	

	
	- Notional Interest or Salaries 
	
	

	(c)
	Over-valuation of opening stocks in cost a/cs 
	
	

	(d)
	Under-valuation of closing stocks in cost a/cs
	
	

	(e)
	Purely financial incomes excluded from cost a/cs 
	
	

	
	- Interest & dividends received 
	
	

	
	- Rent or transfer fees received 
	
	

	C. 
	Less : items having the effect of lower profits in financial accounts 
	
	

	(a)
	Under absorption of factory, office and selling and distribution overheads
	
	

	(b)
	Under-valuation of opening stock in cost a/cs 
	
	

	(c)
	Over-valuation of Closing stock in cost a/cs 
	
	

	(d)
	Purely financial charges excluded from cost a/cs eg Legal charges, donations, preliminary expenses written off 
	
	

	(e)
	Depreciation under- charged in cost accounts 
	
	

	D.
	Profits as per financial accounts. 
	
	


Tutorial Note :
In cases we have losses in cost accounting records then the figure of loss as a starting point can be put as ‘minus’ or ‘-ive’ figure. The implication of this will be that sum of ‘+’ items (items to be added) will be deducted and sum of ‘-’ items (items to be subtracted) will be added to the base figure of loss to arrive at the resultant figure (which is the profit/loss as per financial books).
Proforma Reconciliation Statement (When profits as per financial accounts are taken as base profits figure)
12.2.2    Memorandum Reconciliation Account
Memorandum Reconciliation Account performs the same function of reconciling two figures of profits disclosed by financial accounts and cost accounts as is accomplished by preparing reconciliation statement. Memorandum Reconciliation Account, basically, is the presentation of reconciliation statement in ‘T’ shape account form. It is called memorandum account because it does not form part of double entry.
Steps in preparation of Memorandum Reconciliation Account
Four basic steps of preparing the Memorandum Reconciliation Account are encapsulated in the following lines:
Step 1. At first, base profit figure, say, profits as per cost account is placed on the credit side of the account and if costing books reveal a loss, it is to be put on the debit side of the memorandum reconciliation account.

Step 2. All items which are to be added for reconciliation purpose will be shown on the credit side of the account. For instance, if we are starting from costing book's profits, the following items will be shown on the credit side :

(a)
Purely financial incomes included in financial accounts

(b)
Over-absorption of overheads in cost accounts

(c)
Over-valuation of opening stock in cost accounts

(d)
Under valuation of closing stock in cost accounts.
Step 3. All those items which are to be subtracted from base profit figure will be shown on the debit side of Memorandum Reconciliation Account. A list of the items to be shown on debit side in case, we start the procedure from profits as per cost accounts is given below :

(a)
Purely financial charges (as listed in the preceding section) excluded from cost accounts.

(b)
Under absorption of overheads in cost accounts

(c)
Over-Valuation of closing stock in cost accounts

(d)
Under-Valuation of opening stock in cost accounts.
Step 4. The balancing figure after placing all the items as described in first 3 steps is determined and should match with the figure of profits/loss as per financial accounts (if all the computations are arithmetically correct). If sum of credit side items > sum of debit side, items, balancing figure is profit. If sum of debit side > sum of credit side items, balancing figure is loss, as per financial accounts.
Proforma of Memorandum Reconciliation Account, if starting Point of the procedure is profits as per cost books, is given below :
DR.
                               Memorandum Reconciliation A/c
                        CR.   
	Particulars
	Amount (`)
	Particulars
	Amount (`)

	To Loss as per cost accounts
	
	By profits as per cost accounts 
	

	To purely financial charges
	
	By purely financial income
	

	Discount on issue of shares written off
	
	Rent Received 
	

	Preliminary expenses written off
	
	Interest Received
	

	Underwriter's Commission
	
	Profits on sale of fixed assets 
	

	Fines & Penalties 
	
	Dividend 
	

	Donation 
	
	Transfer fee received 
	

	Bank interest
	
	By items charged in cost accounts only. 
	

	To depreciation under charged in cost a/cs
	
	By Excess of depreciation charged in cost books. 
	

	To under-absorption of overheads 
	
	By over-absorption of overheads
	

	To under-valuation of opening stock in cost a/cs 
	
	By over-valuation of opening stock in cost a/cs.
	

	To over-valuation of closing stock in cost a/cs 
	
	By under-valuation of closing stock in cost a/cs. 
	

	To profits as per financial a/cs 
	
	By Loss as per financial a/c. 
	

	(Balancing figure when sum of credit items > sum of debit items)
	
	(Balancing figure when sum of Debit items > sum of credit items)
	


Miscellaneous Problems
Problem 1
 
The net profits of Nidhi Limited according to financial accounts was ` 84,377 while profits shown by cost accounts was ` 106,200 for the same year. Prepare reconciliation statement to reconcile both the profits from the following information:
	(i)
	Depreciation charged in financial accounts
	` 5600

	
	while recovered in cost accounts
	` 6250

	(ii)
	Works overheads under absorbed in cost accounts
	` 1560

	(iii)
	Office overheads over-recovered in cost accounts
	` 850

	(iv)
	Interest on loans (credit) not included in cost accounts
	` 4000

	(v)
	Loss due to obsolescence charged in financial accounts
	` 2850

	(vi)
	Bank interest and dividends received
	` 375

	(vii)
	Income-Tax paid
	` 20,150

	(viii)
	Loss due to depreciation in inventories charged in financial accounts
	` 3375

	(ix)
	Stores adjustment credited in financial accounts
	` 237


Reconciliation Statement

Solution

	Particulars
	Amount(`)
	Amount(`)

	Profits as per cost books
	
	106,200

	Add:
	
	

	1. Excess of depreciation charged in cost a/cs (6250 - 5600)
	650
	

	2. Over absorption of office overheads
	850
	

	3. Interest on loans (Credit)
	4,000
	

	4. Bank interest and dividend received
	375
	

	5. Stores adjustment
	237
	6,112

	Less:
	
	

	1. Under absorption of works overheads
	1,560
	

	2. Obsolescence charged in financial books
	2850
	

	3. Income tax paid
	20,150
	

	4. Loss on depreciation of inventories (charged in financial books)
	3375
	27,935

	Profit as per financial books
	
	84,377


Problem
2.
The financial books of a company reveal the following data for the year ended on March 31, 2017.
	Particulars
	Amount `

	Opening - Finished goods (875 units)
	74,375

	W-I-P
	32,000

	Raw materials consumed
	780,000

	D Labour
	4,50,000

	factory overheads
	3,00,000

	Administration overheads
	295,000

	Goodwill
	1,00,000

	Dividends paid
	85,000

	Bad debts
	12,000

	Selling and distribution overheads
	61,000

	Interest Received
	45,000

	Rent received
	18,000

	Sales (14500 units)
	20,80,000

	Closing Stock - Finished goods (375 units)
	41,250

	W-I-P
	38,667


The cost records provide as under :


-
Factory overheads are absorbed at 60% of direct wages


-
Administration overheads are recovered at 20% of factory cost.


-
Selling and distribution overheads are charged at ` 4 per unit sold.


-
Opening stock of finished goods is valued at ` 104 per unit


-
The company values work-in-progress at factory cost-both for financial and cost profit reporting.

Required:


(a)
Prepare statements for the year ended on March 31, 2017 and show - the profit as per financial records


-
the profit as per costing records


(b)
Present reconciliation statement reconciling profits as per costing records with the profits as per financial records

CA [May, 2002]

Profit & Loss A/c

Solution
(for the year ending on March 31, 2017)

	
	Particulars
	`
	Particulars
	`

	
	To opening stock of finished goods
	74,375
	By Sales
	20,80,000

	
	To work-in progress
	32,000
	By Closing finished stock
	41,250

	
	To Raw materials consumed
	780,000
	By work-in-progress
	38,667

	
	To D. Labour
	4,50,000
	By Rent received
	18,000

	
	To factory overheads
	3,00,000
	By Interest received
	45,000

	
	To Administration overheads
	2,95,000
	
	

	
	To Selling & Distribution overheads
	61,000
	
	

	
	To Dividend paid
	85,000
	
	

	
	To Good will
	1,00,000
	
	

	
	To bad depts.
	12,000
	
	

	
	To profit
	33,542
	
	

	
	
	22,22,917
	
	22,22,917


Statement of cost and profit

	Particulars
	Amount(`)

	Raw materials consumed
	7,80,000

	Add D. labour
	450,000

	Prime cost
	12,30,000

	+ factory overheads (60% of direct wages i.e. 450,000)
	2,70,000

	
	

	Add: Opening W-I-P
	32000
	

	Less: Closing W-I-P
	-38667
	(6,667)

	Net factory cost
	14,93,333

	Add: office overheads (20% of factory cost)
	2,98,667

	Total cost of production (14000 units)
	17,92,000

	Add: Opening stock of finished goods (875 units) (875 × 104)
	+ 91,000

	Less: Closing stock of finished Goods (375 units)
	(48,000)

	( 1792000 x 375 / 14000 )
	

	Cost of Goods sold (14500 units)
	18,35,000

	Add: selling and Distribution overheads
	58,000

	Cost of Sales (Total cost)
	18,93,000

	Add Profit
	1,87,000

	Sales
	20,80,000

	
	


Thus, profit as per financial records - ` 33542

Profit as per costing records - ` 187,000

Working Note : Number of units produced = Sales + Closing Stock - Opening Stock

= 14500 + 375 - 875

= 14000 units

Reconciliation statement

	
	Amount (`)
	Amount (`)

	Profits as per cost records
	
	1,87,000

	Items to be added :
	
	

	
1.
Over-absorption of administration overheads (298667-295000)
	3667
	

	
2.
Overvaluation of opening stock of finished goods in cost books (91000 - 74375)
	16,625
	

	
3.
Interest received
	45,000
	

	
4.
Rent received
	18,000
	83,292

	Items to be deducted:
	
	270,292

	
1.
Under absorption of factory overheads (3,00,000 - 270,000)
	30,000
	

	
2.
Under absorption of selling & distribution overheads (61000 - 58000)
	3,000
	

	
3.
Overvaluation of closing Stock of finished goods in cost books (48000 - 41250)
	6,750
	

	
4.
Goodwill
	1,00,000
	

	
5.
Dividend
	85,000
	

	
6.
Bad debts
	12,000
	236,750

	Profit as per financial records
	
	33542


Problem
3.
Akansha Ltd. has furnished the following information from the financial books for the year ended 31st march 2016.

	
	(`)
	
	(`)

	To opening stock (500 units @ 140 each)
	70,000
	By sales (10250 units)
	28,70,000

	To materials consumed
	10,40,000
	By closing stock (250 units @ ` 200 each)
	50,000

	To wages
	6,00,000
	
	

	To factory overheads
	3,79,000
	By Interest
	1000

	To office overheads
	424,000
	By Rent Received
	40,000

	To selling expenses
	220,000
	
	

	To Bad debts
	16,000
	
	

	To Preliminary expenses
	20,000
	
	

	To Net Profit
	192,000
	
	

	
	29,61,000
	
	29,61,000


The cost sheet shows the cost of materials @ ` 104 per unit and the labour cost at ` 60 per unit. The factory overheads are absorbed at 60% of labour cost and administration overheads at 20% of factory cost, selling expenses are charged at ` 24 per unit. The opening stock of finished goods is valued at ` 180 per unit.

Required :


(i)
to prepare a statement of cost & profit as per costing records for the year ended 31st march 2016 and


(ii)
to prepare memorandum reconciliation Account reconciling the profits as disclosed in costing records with the profits shown in financial accounts.

(B.Com (Hons) Delhi Modified)

Statement of cost and Profit as per cost records for the year ended 31st march, 2016

Solution

	Particulars
 Output--
	WNI
 O-                10,000 units

	D. Materials
	10,40,000

	Wages
	600,000

	Prime cost
	16,40,000

	Add: factory overheads(60% of Direct labour)
	3,60,000

	Works cost
	20,00,000

	Add: office  overheads (20% of factory cost)
	4,00,000

	Total cost of production
	24,00,000

	Add: opening stock of finished goods (500 units @ 180 per unit)
	90,000

	Less: closing stock of finished goods (WN II)
	(60,000)

	Cost of Goods sold
	24,30,000

	
	

	Add: Selling expenses @ ` 24 per unit for 10250 units)
	2,46,000

	Cost of Sales
	26,76,000

	Add: Profits
	1,94,000

	
Sales
	28,70,000


Memorandum Reconciliation A/c

	Under absorbed factory overheads in cost books (379,000 - 360,000)
	19000
	Profits as per cost records
	194000

	Under-absorbed office overheads in cost books (424,000 - 4,00,000)
	24000
	Over-absorbed selling overheads (246000 - 220,000)
	26000

	Bad debts not included in cost books
	16000
	Over-valuation of opening-stock in cost books (90,000 - 70,000)
	20000

	Preliminary expenses written off in financial a/cs
	20,000
	Interest received not recorded in cost books
	1000

	Over valuation of closing stock in cost books (60,000 - 50,000)
	10,000
	Rent Received (purely financial income)
	40,000

	Profit as per financial accounts
	1,92,000
	
	

	
	2,81,000
	
	2,81,000


Working Notes: WN I: Production = Sales + Closing Stock - Opening Stock

= 10250 + 250 - 500

= 10,000 units

WN II: Valuation of closing stock in cost books -=
[image: image1.wmf]TotalCostofproduction
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= 24,00,000 × 250 = ` 60,000/-

        10,000

Problem 4.
From the information given below, prepare (a) a statement showing costing profits or loss and (b) another statement reconciling the costing profits  shown by financial accounts:

Trading & Profit and Loss Account for the year ended 31st Dec. 2016

	To materials consumed
	3,00,000
	By Sales (150,000 units)
	6,00,000

	To Direct wages
	1,50,000
	By Interest received
	15,000

	To Indirect factory expenses
	90,000
	
	

	To office expenses
	27,000
	
	

	To Selling and distribution Expenses
	18,000
	
	

	To Net Profit
	30,000
	
	

	
	615,000
	
	615,000


The normal output of the factory is 225,000 units, Indirect Factory expenses of a fixed nature are ` 54,000. Office expenses are for all practical purposes constant. Selling and distribution expenses are constant to the extent of ` 6000 and the balance varies with Sales. There are no opening and closing stocks.

(B.Com (Hons) Delhi)

Statement of cost and Profits (As per cost records)

for the year ended 31st Dec. 2016

Solution
                                                                      Output & sales - 150,000 units

	Particulars
	Amount(`)
	Amount(`)

	Materials consumed
	
	3,00,000

	D. wages
	
	150,000

	Prime cost
	
	450,000

	Add: works overheads
	
	

	
Variable
	36000
	

	
Fixed
	36000
	72,000

	Factory cost
	
	522,000

	Add: office overheads
	
	18,000

	Cost of Production
	
	5,40,000

	Add: Selling and distribution overhead
	
	

	
Variable
	12000
	

	
Fixed
	4000
	16,000

	
cost of Sales
	
	5,56,000

	
Profit
	
	44,000

	
Sales
	
	600,000


Reconciliation Statement

	Profit as per cost accounts
	
	44,000

	Add: Interest received (Purely financial income)
	+15,000
	+15,000

	Less:
	
	

	Under absorption of works overheads in cost accounts
	-18000
	

	Under absorption of office overheads in cost a/cs
	-9,000
	

	Under absorption of selling & distribution overheads in cost a/cs
	-2,000
	(29,000)

	Profit as per financial a/cs
	
	30,000


Working Notes - Fixed overheads are absorbed in cost accounts on  the basis of SFOR (Standard fixed overhead rate) which is predetermined based on normal capacity output. Therefore, when actual output is more than normal output there is over-recovery of overheads, and when actual output is less than normal output under recovery of overheads is there in cost books. Variable overheads however, will be the same in both the books of account.

Calculation of absorption of Fixed overheads in cost A/cs = 
[image: image2.wmf]Fixedoverheads
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 × Actual output

	So. Fixed works overheads charged in cost a/cs
	
[image: image3.wmf]54000
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 × 150,000
	= 36000/-

	Fixed office overheads charged in cost a/cs
	
[image: image4.wmf]27000
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 × 150,000
	= 18000/-

	Fixed selling and distribution charged in cost a/cs
	
[image: image5.wmf]18000
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 × 150,000
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Problem 5.     A manufacturing company had disclosed net loss of ` 48,700/- as per their cost accounting records for the year ended 31st march 2014. However, their financial accounting records disclosed net profit of ` 35,400 for the same period. A scrutiny of date of both the sets of books of accounts revealed the following information:

	
	Particulars
	(`) Amount

	(i)
	Factory overheads under absorbed
	30,500

	(ii)
	Administrative overheads over-absorbed
	65,000

	(iii)
	Depreciation charged in financial accounts
	225,000

	(iv)
	Depreciation charged in cost accounts
	270,000

	(v)
	Income-tax provision
	52,400

	(vi)
	transfer fee (credited  in financial accounts)
	10,200

	(vii)
	obsolescence loss charged in financial accounts
	207000

	(viii)
	Notional Rent of own premises (charged in cost a/cs)
	54000

	(ix)
	Value of opening stock:
	

	
	(a) in cost accounts
	138000

	
	(b) in financial accounts
	115,000

	(x)
	Value of closing stock
	

	
	(a) in cost accounts
	122,000

	
	(b) in financial accounts
	112,500


Prepare a memorandum Reconciliation Account by taking costing loss as base

[CA, inter May 2014]

Solution

Dr.
Memorandum Reconciliation Account
Cr.

	Particulars
	Amount (`)
	Particulars
	Amount (`)

	To Net loss as per cost a/cs
	48,700
	By administrative overheads over absorbed in cost a/cs
	65,000

	To factory overheads under absorbed in cost a/cs
	30500
	By Excess depreciation charged in cost a/cs (270,000 - 225,000)
	45,000

	To provision for income tax
	52400
	By transfer fee credited in financial a/cs
	10,200

	To obsolescence loss
	20700
	By Notional rent of own premises
	54,000

	To Overvaluation of closing stock in cost a/cs (122000 - 112500)
	9500
	By Over-valuation of opening stock in cost a/cs (138000 - 115,000)
	23000

	To Net profit (as per financial a/cs) (balancing figure)
	35,400
	
	

	
	197200
	
	197200


Tutorial note : As cost books reveal losses in this case loss figures (as base) is written on the debit side contrary to the case of profit figure which is written on the credit side if taken as base. All other adjustments for reconciliation are made as illustrated in the text (with cost profit/loss as base). In the end, balancing figure will be financial profit if resulted on debit side and financial loss if resulted on the credit side of mark.

Problem 6.
The following is the summarised version of trading and Profit and Loss account of Atharv Enterprises Limited for the year ending 31st December 2016
Trading and Profit & Loss A/C

	Particulars
	Amount(`)
	Particulars
	
	Amount(`)

	To Materials
	144,000
	By Sales
	
	288,000

	To wage
	108,000
	By closing stock of finished goods
	
	  61,200

	To works overheads
	72,000
	By W-I-P:
	
	

	To gross profit
	43,200
	Materials
	9000
	

	
	
	Wages
	5,400
	

	
	
	Works Overheads
	3,600
	 18,000

	
	367,200
	
	
	367,200

	To Administrative overheads
	18000
	By Gross Profit
	
	43,200

	To Net Profit
	25200
	
	
	

	
	43,200
	
	
	43,200


During the year, 6000 units over manufactured and 4,800 of them were sold. The costing records show that works overheads have been estimated at ` 9 per unit produced and administrative overheads at ` 4.5 per unit produced. The costing books show a profit of ` 33,120.

REQUIRED:-


(a)
Prepare a statement of cost and profit as per cost a/cs

(b)
Prepare factory overhead control Account


(c)
Prepare Administrative overheads control Account


(d)
Prepare Reconciliation Statement

[B.Com (Hons., Delhi External)

SOLUTION

DR
                                        Factory Overheads Control A/c
                  CR
	To Cost Ledger Control A/c
	72000
	By W-I-P Ledger Control A/c

(6000 x 9 + 3600 on WIP)
	57,600

	
	
	By Balance c/d

(Under absorption taken to reconciliation statement)
	14,400

	
	72,000
	
	72,000


DR
                     Administrative Overheads control A/c
                 CR
	To cost Ledger Control A/c
	18000
	By W-I-P Ledger Control A/c
(6000 × 4.5)
	27,000

	To Balance c/d
(Overheads of administrative overheads taken to reconciliation statement)
	9000
	
	

	
	27,000
	
	27,000


Statement of cost & Profit as per cost accounts for the years ending 31st Dec. 2016

	Particulars
	(`)
	Amount(`)

	Direct Materials
	144000
	

	Less: included in W-I-P
	-9000
	135,000

	Direct wages
	108,000
	

	Less: included in W-I-P 
	-5,400
	102,600

	Prime Cost
	
	237600

	Add: Factory Overheads (6000 x 9) 
	
	54,000

	Factory Cost
	
	2,91,600

	Add: Administrative overheads (6000 x 4.5)
	
	27,000

	Total cost of production of 6000 units
	
	3,18600

	Less: Closing Stock (1200 units) 
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	(63,720)

	Cost of Goods Sold
	
	2,54,880

	Add: Profit (Balancing figure)
	
	33,120

	Sales
	
	2,88,000


Reconciliation Statement

	Particulars
	Amount(`)
	Amount(`)

	Profit as per cost Accounts
	
	 33,120

	Add: Over-absorption of Administrative overheads (27000-18000)
	9000
	+ 9000

	
	
	 42,120

	Less: Over-valuation of Closing Stock of finished goods (63720-61200)
	
	  (2520)

	Under-absorption of factory overheads [(72000-                57600)]

[(Financial books) (Cost books)]
	
	(14400)

	Profit as disclosed in Profit & Loss A/c
	
	25200


(WN I)

Working Notes - valuation of closing stock of finished goods in cost books
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